
MARKING SCHEME  

MODULE 1 PAPER 2 
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350 + 𝑝2 + 𝑞2 = 610 

𝑝2 + (18 − 𝑝)2 = 260 

𝑝2 + 324 − 36𝑝 + 𝑝2 = 260 

2𝑝2 − 36𝑝 + 64 = 0 

𝑝2 − 18𝑝 + 32 = 0 
(𝑝 − 16)(𝑝 − 2) = 0 

𝑝 = 16 , 2 
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4.  log𝑥 𝑦 + 3 = 2 + log𝑥 4  

 

log𝑥 4 − log𝑥 𝑦 = 1  

log𝑥

4

𝑦
= log𝑥 𝑥 

4

𝑦
= 𝑥 

𝑥𝑦 = 4 ……………………………(i) 

 

  

  2𝑥 ∙ 4 = 32 ∙ 2𝑦. 

2𝑥 ∙ 22 =  25 ∙ 2𝑦 

𝑥 + 2 = 5 + 𝑦 

𝑥 = 𝑦 + 3 ………………………..(ii) 

 

Substitute (ii) into (i) 

 

𝑦(𝑦 + 3) = 4 

𝑦2 + 3𝑦 − 4 = 0 
(𝑦 − 1)(𝑦 + 4) = 0 

𝑦 = 1 or 𝑦 = −4 

𝑥 = 1 + 3 or 𝑥 =  −4 + 3 

𝑥 = 4  or 𝑥 =  −3 (ignored) 
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7. (a) 𝐴𝐸⃗⃗⃗⃗  ⃗ = 𝐴𝐷⃗⃗ ⃗⃗  ⃗ + 𝐷𝐸⃗⃗ ⃗⃗  ⃗ 

      = 12𝑦 + 12 𝑥 
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1 

 (b) 
|−𝐸𝐴⃗⃗⃗⃗  ⃗| = √|12𝑦|

2

+ |12𝑥|
2
 

= √(12 × 1.2)2 + (12 × 0.5)2 

= √243.36 

= 15.6 
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 (c) 𝐴𝐺⃗⃗⃗⃗  ⃗= h 𝐴𝐸⃗⃗⃗⃗  ⃗ 

       = h(12𝑥 + 12𝑦) 

       = 12h𝑥 + 12k𝑦 

(ii) 

𝐵𝐺⃗⃗⃗⃗  ⃗ = k 𝐵𝐹⃗⃗⃗⃗  ⃗ 

      = k   ( ̶ 15 𝑥 + 9 𝑦) 

      =  ̶ 15k 𝑥 + 9 k𝑦 

(iii) 

𝐴𝐵⃗⃗⃗⃗  ⃗ = 𝐴𝐺 ⃗⃗ ⃗⃗ ⃗⃗  + 𝐺𝐵⃗⃗⃗⃗  ⃗ 
15𝑥 = 12h𝑥 + 12hy + 15kx – 9ky  

15x = (12h + 15k)x + (12h – 9k) y  

15 = 12h + 15k ------------(1) 
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8. (a) 
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√(5 − ℎ)2 + (13 − 𝑘)2 = 3√10 

ℎ2 − 10ℎ + 16 = 0 

(ℎ − 8)(ℎ − 2) = 0  

h = 8      or      h = 2 

k = 22  (ignored)   or      k = 4 
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 (b) 𝑅 = 𝑝2
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𝑇  
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 (i) log p = c 

log p = 2.04 

      p = 109.6 
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 (ii) −𝑞𝑙𝑜𝑔2 = 𝑚 
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11. (a) 
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 p =
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2
 atau q = 

5

3
 

1- P (X=0) – P (X=1) – P (X=2) atau  

1- 0.0467 – 0.1866 – 0.31104  

0.4557  

 

1308  

    = 28.01  
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(b) 

 

4

1013−
 @  0.75 seen  

0.7734  

(ii) P ( X > 136)  atau  P ( X < 9.6)  

0.1841 x 145    atau   0.4602 x 145  

33:13  
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12. (a) 𝑣 = 𝑡3 − 5𝑡2 +  6𝑡 

𝑎 =
𝑑𝑣

𝑑𝑡
 

𝑎 = 3𝑡2 − 10𝑡 + 6 

When t = o, a = 6 ms – 2  
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 (b) a < 3  

3𝑡2 −  10𝑡 + 6 < 3 

3t2 – 10t + 3 <0 

(3t – 1) (t – 3) < 0  
1

3
< 𝑡 < 3  
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 (c) v = 0 

𝑡3 − 5𝑡2 +  6𝑡 = 0 

𝑡(𝑡2 − 5𝑡 + 6) =  0 

𝑡(𝑡 − 2)(𝑡 − 3) = 0 

t = 0,         t = 2,       t = 3  

(ignored) 
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𝑠 = ∫(𝑡3 − 5𝑡2 +  6𝑡) 𝑑𝑡 

    =
1

4
𝑡4 −

5

3
𝑡3 + 3𝑡2 +  𝑐 

t= 0, s = 0, c = 0 

s = 
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4
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5

3
𝑡3 + 3𝑡2 

𝑡2(3𝑡2 −  20𝑡 + 36) = 0 

b2 – 4ac = ( ̶  20 )2 – 4 (3)(36) 

              =  ̶  32  

              < 0 ( no real root) 

The particles not return to the fixed point O 
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13. (a) I2018/2017 = (I2018/2016 / I2017/2016) x 100 

             = 
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             = 120 
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(ii) 

Composite index 
120(3) + 115(1) + 2𝑥

3 + 1 + 2
= 115.83 

x = 110 

 
𝑄2017

𝑄2016
x100=115.83 

 
135.50

𝑄2016
x100=115.83 

Q2016=RM 117 
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14.  I  :  𝑥 + 𝑦 ≥ 40 

 

II  :  300𝑥 + 180𝑦 ≥ 9000 

 

Scale and Line correctly drawn  

 

Region correctly shaded 

 

(i)  Akumi = 28 

      Jane Perry = 14 

 

(ii)  x = 25,  y = 15 

       Total sale = 300 (25) + 180 (15) 

                        =  10 200 

 

       Minimum amount of commission  

       = 𝑅𝑀 10 200 × 6% 

      = 𝑅𝑀 612.00 
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